gentamicin

extreme value (

4.1,

gentamicin

gentamicin
outlier
)

( standard deviation; ) (mean)

outlier extreme value

mean
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) Student' t test

Mann - Whitney test



clearance
creatinin, hematocrit

5

(=26)
(1) 17/9a

() 5073+ 19.00b

(18-81 )c
albumin 2.67+ 056
( 1) (1.40-3.60)
BMI 20.19 + 3.55
(12 (1481-28.33)
BW 50.44 +12.44
() (27-79)
Cr 1.24 + 051
(1) (0.56-2.87)

117+ 0.39

(0.56- 1.97)
Het 3347 + 6.67
(%) (20.60-43.00)
IBW 52.71 + 10.08

() (32.43- 68.65)

ideal body weight

(=18
6/12

65.83+ 14.90 *
(21-83)
68.47+10.14 *

&8

2.47 + 0.60
(1.40-3.40)

1752+ 271 *
(13.79-23.94)

4150+ 1038*
(29 - 70)

151 0.71
(0.54-3.20)

3454+ 5.76
(26.0-44.9)

4744+ 873
(34.27- 66.84)

0.05
BMI,
2
pvalue
M- test  0.006

Ttest <0.001

Ttest 0.25
Ttest 0.01
Ttest 0.016
M- test 0201
T test 0.08
Ttest 0.58
T test 0.079
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creatinine
alumin,



P value

Cler 53.24427.30  31.644¢20.09* M- Wtest  0.004
(] ) (14.74-114.72) (899- 8362)
4857+ 2260  26.13+1255% Ttest <0.001
(1474 -98.46)  (8.99 -58.09)

3 , bmeant SD,°
M- W test = Mann - Whitney test, BMI = body mass index, BW =
Hct = hematocrit, IBW = ideal body weight, Clcr = creatinine clearance

10

(septic shock) 1

(sepsis) 13

cathecolamine 3

10

PEEP 2
APACHE Il score (meanz ) 2044 £ 5.72

() (12-34)

APACHE Il score = Acute Physiology and Chronic Health Evaluation Il score
PEEP = positive end expiratory pressure
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P <0.05
2 cr = creatinine

55.6
56
2.2
16.7
55.6
125



( =26)
4.09+ 1022
(1.84-6.86 )b
meant D1 1D/kg=

D/ kg

4.2,

clearance

20 IBW

24, 36, 48, 60

24

o= 8

4.65+0.98 T test
(2.91-6.32)
(1 1)
0.05
9
8
6
20 76.92)

P value

0.077

gentamicin

5

(

5

gentamicin

19.3)
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Pvalue
(=26) (=18)
ke 0200098  014+010* M-Wtest 002
() (0.02:037)  (0.01-0.36)
011+0.07¢  Ttest 0001 518
(0.01-0.26)
Clan 3+ 18 250£2.07F M test 002
(1) (053762  (0.33-7.55)
19+1.17*%  Ttest <0001 518
(0.33-4.64)
) 5271669  1061+1536*  MWiest 002
() (1883599 (1.93698)
365t 140 7124419%  MWiest 0009 8124
(1.88-6.84)  (1.93-159) 1
Vd 040:0.09  0.49:0.13¢  Ttest 0007
(/) (0.26-064) (0.27-0.75)
Dosghg 805+ 150 9574221+  Ttest 00U 8
(/)  (5.60-1085 (5.78-1380) 1

X( ) 28.75$3650  57.00481.78* MWtest 002
(1051 - 19708)  (10.77-373.00)

1995¢746 B4 £22.32* MWtest 0,009 8 24
(1051-36.90)  (10.77-85.25) 1
ament5D," P<0.05 MWtest = Mann-Whitney test 1Ke
= 1Cgn=gentamicin clearance 1 2= Md =

1T=
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24
36 4 12 1 1| 3.85)
Cg@=05 [ .
=36 )
I ( 38.89) 10 ( 55.56)
24 36 2 , 48 3 , 60 2
12 3 1 5.56)
4, - gentamicin
2
stepwise
(74)
outlier extreme value
outlier extreme value
( )
albumin, , , BMI, . creatinine, creatinine clearance, hematocrit
hematocrit,  IBW
APACHE I score,

catecholamine, ,
PEEP



outlier
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extreme value

APACHE I score 24 (
)
APACHE Il score 20 (
50)
APACHE Il score 20 (

50)
43.1.
9
clearance
a R
gentamicin clearance 2
bias ME 0.34 bias
MAE 0.87 RMSE 1.15
MAE RMSE
creatinine clearance
gentamicin clearance
R2 creatinine clearance
creatinine clearance 3 1,7

gentamicin clearance

26 creatinine

gentamicin clearance

93

ME precision

precision
gentamicin clearance
gentamicin clearance

2 (
outlier
9(114.72,98.46



(=2

Clgm= 0.05Cler +0.03BW
pclr <0.001 1R200-091
Paw=0.009,R2 lw= 0.02

(
1
(=16)

-19)

(o= 0.07 Cler

2
()
Clgn=

APACHE Il score> 24

-2.97 +0.08 Cler
+ (.10 APACHE

=0-035

Peir = 0,002 1R2010-0.94
Pede_ 0037 Raede (06

3 APACHE Il score > 20

(9)
(]m]:

4,
( 5

), BW=

0.08 Cler

APACHE Il score< 20
8 )(=)
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gentamicin clearance

Pvauie R2 VE MAE RVISE
(r.) C1r) (22

<00l 08 0% 087 115
(011 080) (0.56.1.18) (0.71,146)

<00l 089  0U 05 076
(053103) (0251089 (0.23,106)

0004 1 010 013 015
(0051025 (0041022) (007 022)

<00L 0% 006 053 064
(0451059 (025108) (02810%)

95 % confidence interval 1IME = mean error IMAE = mean absolute error 1RMSE =
root mean square error,Clgn= gentamicin clearance( /), Cler = creatinine clearance ( ./

(

)
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104.03 ) gentamicin clearance
creatinine clearance
cen = 0.08 Cler

0.001 creatinine
clearance gentamicin clearance 93 ME
0.11 (95%CI 1-0.37  0.59), MAE 0.89 (95%CI, 0.61  1.16) RMSE
1.09 ( 95%CI, 0.65 1.39) creatinine
clearance gentamicin
clearance creatinine clearance gentamicin clearance
93
5
8 outher (5 8 gentamicin clearance )
creatinine clearance gentamicin clearance  creatinine clearance
gentamicin clearance 89
0.001 bias 011  precision MAE 0.55
RMSE 0.76 gentamicin
clearance bias precision
APACHE I score 24
gentamicin clearance creatinine clearance APACHE 1 score
creatinine clearance gentamicin
clearance 94 APACHE Il score
gentamicin clearance 6 0.002 0.037
0.004 9 bias
0.10 precision MAE 0.13 RMSE 0.15
bias precision
APACHE I score 20 gentamicin
clearance creatinine clearance

creatinine clearance gentamicin
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clearance 94 0.001 bias 0.06 precision
MAE 0.53 RMSE 064 , bias
precision
APACHE I score 20
5 8 outlier

gentamicin clearance

4.3.2.
10 albumin
0.001
55 R) albumin
albumin
ME MAE RMSE
bias precision
18
043 [ .
0.64 [ .
62
0001 bias 0.003  precision MAE 0.06 0.08
RMSE
APACHE Il score 24
APACHE Il score 20

78 0.002
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( =26)
Vd =0.70-0.11 alb
A <000 IRfL <0001

(=18)
1 ( =18)
Vd = 064- 020 sepsis
P, §<0001 1 pys; <0001

2 APACHE Il score > 24
(=)

3 APACHE Il score > 20
31 (39
Vi =0.69- 031 sepsis
p "< 0001, p"s =0.002

32, 1(
Vd =037 + 020 CAT
001 pw =0016

4 APACHE Il score< 20
(9
Vdl =0.72 - 0.13 sepsis
+0.003 Cler- 0.006 Hot
<0001
Peepsis =0.002, R"p&=0.59
poar = 0003 1RAL =0.24
Pg =0028 R, =0.11

pe R

<000l 055

<0001 062

0.002

0.016

0,002

0.78

0.65

094

62

gentamicin
ME MAE RVEE
(r)y r)y (22
001 0.05 0.06

(0011003 (0031006 (0041007

0003 006 008
(0041004 (003008 (0.040.0)

0003 006 007
(0061005 (0041009 (003 1009

0005 006 006
(005006) (0041008) (0031009

002 003 003
006,004 (001 1004) (0004 1005)

% Y% confidence interval, VE = mean eror, MAE = mean absolute error, RVEE = root mean

Suare enar, Md =

fit # X
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BV ' 9 ydb=abumn(?/ )1 spss |1
oo 0ICAT catecholamine 1 0, Het = hematocrit (%
038 [ .
069 [ . bias
-0.003 precision MAE 0.06 0.07
RMSE 1 outlier
1
catacholamine 65
0.016 catacholimine
0.57 . 0.37
| bias 0.005 precision 0.06 MAE
RMSE
! APACHE Il score 20
. Creatinine clearance
hematocrit
59 creatinine clearance  hematocrit
24 1
0002 Dias 0.02 precision
0.03 MAE  RMSE
4.3.3.
11 26
creatinine clearance creatinine clearance

creatinine clearance
creatinine clearance
ol R)
ME MAE  RMSE
ME bias precision
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Pele R ME( ') ME( D) REE( 2
( =26)
Ke = 0.08 +0.002 Cler <0001 051 -0.02 0.05 0.06
PO = (008 (00410009 (0041007 (0051009
Por <0.001
(=18)
1 5 B8
( =16)
Ke=0002Cler+0046ab <0001 0% 0.008 0.03 0.03
-0.035 cr (0.009,0.03) (001 10.04) (001 10.04)
Foor =0.002, R20'=0.86
R0 = 0001 1R2b = 0.04
Pr =0.013, Ra=004
2 APACHE Il score > 24
()
3 APACHE I score > 20
3.1 9
32 B (9
Ke=021-0.06cr 005 066 0.009 0.03 0.03
A = 0001 (0021004 (001 1005) (0.005,0.05)
4, APACHE Il score < 20
(<9
Ke = 0.004 Cler <000l 08  -0.0002 0.06 0.07
(0051005 (0.031008) (003 1009)
95 % confidence interval, ME = mean error, MAE = mean absolute error
RMSE = root mean square error, Ke = , Or = creatinine (1)

gentamicin

Clcr = creatinine clearance ( ./ ), alb =albumin ([ )
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5 18
outlier creatinine clearance, albumin creatinine
gentamicin 0.001
creatinine clearance
86 0.002 albumin creatinine
4
0.001 0.013
94
APACHE I score 24
APACHE Il score 20
APACHE Il score 20
outlier 18
creatinine  creatinine
66 0.015 hias 0.009 precision
0.03 MAEU  RMSE
APACHE |l score 20
creatinine clearance
86 0.001
bias -0.0002  precision 006 007 MAE ~ RMSE
434,
12 creatinine clearance
gentamicin creatinine clearance
53 0.001
bias 0.16  precision MAE 081 RMSE
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gentamicin

189 24(=22
tia = 6.12-0.05 Cler

Pr <0-001
Pacr <0.001

,( =16)
1 1( =17)
tiE 1312+46.17 cr
-2.60 alb-0.47 BM

ng =007
<0001 1Rar=051

o =0.019, Rzb= 016
PBAL= 0,046, RBV= 009

2 APACHE Il score > 24
(=9)

3 APACHE I score > 20
(3 (9

4 APACHE Il score< 20

(99
t, %5.10 cr

66

Pulle R ME( )  MAE( ) RWSE( 2)
<0001 053 0.16 081 0.97
(059 1027) (0571105 (0.70,1.18)
<0001 076 0.009 162 200
(-L07 1105 (0991224) (1.232.55)
<0001 090 0.13 167 245
(212,186 (02 ,313) (2.10,4.05)

95 % confidence interval, ME = mean eror, MAE = mean absolute error 1

RVEE = oot mean souare enor, 11P=
([ .)1BVI=hodymessindex( ./ .2

cr =creatinine

(), Clor = creatinine clearance ( /),



67

0.97 3
creatinine clearance
creatinine clearance

26
4 § 24 extreme value
1 9 outlier creatinine clearance
creatinine clearance
1 extreme value
creatinine,
albumin BMI 0.001 creatinine
51 0.001
albumin BMI
16 9 0.019
0.046
APACHE Il score 24
APACHE Il score 20 1 extreme value
APACHE |l score
20 Creatinine
creatinine 90
0001 bias 0.13 precision 1.67 MAE
2.45 RMSE creatinine

creatinine
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435.

20
13 2
20
MIC 10
MIC
10
8 |
) 20
albumin 0.001 albumin
45 hias -0.001 precision
0.86 1.08 MAE RMSE
albumin
albumin 134 | .
20 IBW
1 )
creatinine clearance
0.001

49 creatinine clearance
21
Dlkg =7+ 0.05 Cler

Dikg = 11+ 0.05 Cler

creatinine clearance
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13 gentamicin

pee R M) ME S ) RE( 22

8
(=2)
Dikg >13.44-1%ab <0001 045 0,001 0.86 108
0-001. pdb <0.001 (0461046) (0591114  (0.74,1.34)
(=18)
1 1(=17)
Dky > 11-40sepss <0001 0.70 0.02 092 117
+0.05 Cler (0.60 064) (0.54,1.30) (0621154
P. <0001
Py <0.001,R2qss= 049
Pdor=0007, Refr  =0.21

2 APACHE Il score > 24
)

3 APACHE Il scare > 20

( 3(3
Dkg > 738 +405CAT (011 068 0003 116 119
Af™ < 0,001 (1.06107) (0891142 (091 1142
4, APACHE Il score < 20
(=9
Dkg > 1382-247sepsis Q001 097 o0 0.9 0.27
+006 Cler-0.11 Het (011 ,03) (0081035  (0.19,043)
0.00L
Pess <0.001, Rzgss =047
Poor <0.001, Ralr =040
Pg <0.001, RAL =0.10
95 % confidence interval, ME = mean error, MAE = mean absolute error, RMSE = root mean
square error, Dikg mg ] ' 20% IBW
9 ,alb=albumin ( /), Clcr= creatinine clearance ( ./ ) sepsis=1,

sepsis =0, CAT= catecholamine ( =1, ' =0), Het= hematocrit (%)
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APACHE Il score 24
APACHE I score
20 1 catecholamine
catecholimine 68
0.011  bias 0.003 precision 1.16 MAE
1.19 RMSE catecholamine
11.43 738 | .
, APACHE Il score 20
1 Creatinine clearance hematocrit
47
creatinine clearance hematocrit
40 10
97 0.00L hias 0.10 precision 0.19
MAE 0.27 RMSE
D/ kg = 11.35 +0.06 Cler - 0.11 Het
| kg = 13.82 + 0.06 Cler - 0.11 Het
3 7
025 [ . ) gentamicin clearance

creatinine clearance (  Cockroft Gault)
paired Student's t test

13
20

13
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13
0.99 0.943 )
025 | .
(p<o.001)
14
1
_ \d
2
_ \d
(=17 Im

1D/kg = 13.44 - 1.98 albumin

2 DIkg =11-4.0 sepsis + 0.05 Cler
g:

ment SD

(1)

8.05+1.01

549+ 041

0.59+1.83

519+016

gentamicin clearance

71

b =

creatinine clearance

Pvale ME N RVEE

0963 (-0.4%(%46) (0.58',85.14) otz

<0.0013 (_32-12?13.91) (2.0%%23) (23%,93.52)

09430 (-0.6%0120.64) (0.53?12.30) (0-621 17154)

<000 (-5.4?%29) (3.23?;48) (3-6%79)
# (805¢ 150 / )

957+ 221 [ )
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4.36.
05 ./ 05 |/
15
creatinine clearance 189 24
[ extreme value ( g 24)
outlier creatinine clearance (1 9
] creatinine clearance
5 0.001 bias 0.11
precision MAE 4.39 RMSE 5.08
24, 36, 48, 60 72
24
creatinine clearance
%/ ] 24
1 extreme value
creatinine, albumin
BMI 0001 creatinine
' 51 0.001
albumin BMI
16 9 ' 0.019 0.046
bias -0.53  precision 8.56 MAE 10.67

RMSE
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13

gentamicin

AuNIg

P value

ME (13, )

MAE (14.)

RMSE (13.%)

T L4
' k3 -~

M luviauue |
1.8.9 a4 (n=22)

T =33-0.25Clcr

P. 2 <0.001

AR

=L

Pee < 0.001

<0.001

0.53

-0.11
(-2.42 ,2.20)

4.39
(3.23, 5.55)

5.08
(3.78,6.11)

nangloawiin (n=18)
1. yaeendused 1 (n=17)
T=70+33cr-14alb
-2.5 BMI

P
P <0.001,R

cr cr

=0.51
=0.019 ,R’, =0.16

= 0.046,R’... =0.09

BMI
2. ftlaniiil APACHE Il score > 24
(n=5)

Liwumauduwus

3. Q’ﬂw#ﬁ APACHE Il score > 20
o J
( AATEY 1) (n=8)

lainuAuduwus

4. §ulaefiil APACHE Il score < 20
(n=9)

T=275cr

<0.001

<0.001

0.76

0.90

-0.53
(-6.81,5.12)

-0.75
(-11.37,9.87)

8.56
(5.18 , 11.94)

8.78
(0.92, 16.65)

10.67
(6.41,13.67)

13.04
(11.43, 21.70)

RVISE = root mean square errar, T =
Cler = creatinine clearance (

1 9% Y%confidence interval, ME = mean error MAE = mean absolute error

() cr= creatinine
), BV =hody massindex ( /3, ab=aloumn( [ )
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APACHE Il score 24
20
APACHE I score 20
creatinine 90 0.001
bias -0.75  precision MAE 8.78 13.04
RMSE
16
] Mea(nir)S.D. Pvdie NE NAE RVE
an 42 58
o U8 wppyy pmsm  pasy
_ " 22 623 7%
(720 g B2I& D cnpg  weisn 5001
0 8% 10§
o TEm U g en mBne)  Ea136)
) " BY B 28
(=1 gy AOEUA 0D om0 sy gR2EH (12253

2045+ 750 )
b
(38412232 )

1X =33-0.25Cler
2T =70 + 33 ¢cr- 14 alb- 2.5 BMI

6
025 /| .

Cockroft Gault)

gentamicin clearance

creatinine clearance (
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paired Student's t test
15
15 ' )

16
15

(P =091 0.844 )
025 |/ . gentamicin clearance
creatinine clearance

( =0.162)
(p = 0.002)
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